H|6%. =M|(Washing) 8!
IE“‘(Dehydratlon)



» Lipid-Solvent?! paraffing A& X X! L{0j|
embeddingA|7|7| {0l M=ZL} = waterS
2t 3| K| A3k THAO|CE O] THA|Q| interval £
plant material0j| L}2} O} $ C}¥SELC}.

» NHMS XA Rt WEHLEA H=EE X
AHE MM S 2= S0A =MotH, 1178 Al Lk}
Ze A7t 59 £ M3k 20| STt DY &
of ¥3=0] S0 AW 1 =0 ol Fol= &

A2 SEO0M AESHH XA S5 £0{71H

ot Ct= mietE EFaP38 S T A 7ICEH of

EH FAA 2Adoz NHSIHS AL M5}

21 50% HIASE HF A|ESl|OF SHC}.

LS

A np pm k



- Mz 50 S0 A= == HAHAMZ|= TEL
EM HSEUHM 15E=2E Xcd}
O] ECI. &4X7| 1sE9 TIASS Al

27t 2280 E|EH xylene & F7t k||
sl me|E HFLE & QhEICh

 EI=H|E = =& Ethanol= BO| A6} 11
1 2]|0j| Prophanol, Buthanol= Al205t=
Buthanol?| Z % AlSZE|0|M |2 Zct &
T5 927|4| str.



» 78 BEO| A}
O| C}.

» Dehydration?| A|ZF2 fixing or storage
fluid2| alcohols =2} €2 ST 0|A| A|Z&FS]
= Z10| =£LC}. Isopropyl alcohol2 ethyl
alcohol Z0| O & Bi0| AFEE|= dehydrate
agentO|C}.

* Methyl alcohol2 dehydrating plant tissue
2 SEToH AMEEIX| =0 O 0I
methyl alcoholO| "toxicity” 12|11
vigorous dehydrating action@ & delicate
structurelj damage= =CL}.

* Aceton2 excellent dehydrant.

00

ol= B+H|= ethyl alcohol



* The most commonly used dehydration
agent; ethyl alcohol : 95% alcoholO|L}
absolute alcohol & HH= ZA S Al &
4ol L}

* Fixatives = 50% Alc.(1.5 hr) = 60% (1.5
hr) = 70% (overnight) = 80% (3 hr) =
90% (3 hr) = 100% I (3 hr) = 100% II (3
hr)



1. Dehydration Series

STEP I.

FAA 209 = 50% Alc. = 60% Alc. = 70% Alc.
(07| A overnight S}7{L} EE= AE scheduleo
OFA| waitinggt. 2-32 NX| S E ZE0f AHL}
2t damage= 8l X!)

FAAO| Al 1™ A|Z] material & tap water A|Z
0|87 ALY g\C}. FAAS {/d3SI= component
= dehydrations}= S9F 2ol E|H, 2t tap
water A|7|™ dehydration 1’4 S H%EG] OF of
Ct. 2LFSIH water?} plant cells2 S0{Z + &
7| U=,



- STEP II.

e 70% Alc. = 80% Alc. = 90% Alc.
= 100% Alc. I = 100% Alc. II

¢« 7|0 M= step I OJ| A{Q] intervalQ] 2H|| 2
HAAMZICE o E S0 i} root tip=S Ea*—“.“-
st I} 50% — 70%7}X| 30 min2 2 XIgHisH
O™ 80% — 100%7}X| Zt CHAIE 1 hrE
HEA|ZIC}.



Dehydration Series




2. =X E+E ol O+

1) alcohol?| Al £ =
S x|

2) alcoholO| EHHHEIS S T1A|7| 7| U} =0]
TEEMO| SH4AIZHS THEAIZ 4 ULk
3) SEE YUXI7| e} A7 AHEO| &

>c E a3l o Faitheits o
=, celle] HEES dof.

4) I-I%EOjlkl intervalO] Z 7L} water0j| A
Q2| washings}® tissueZ} softs|X| 1 i
%OHM el =0lH tissueZl =5, TH|

=]
03
OF
2
I
A
1o
_|'T'_|
H



3. EAIZh

Zt solution®] interval2 O}2}j©| factors0Oj| 9]
of GF= B=L.

1) Size of the pieces.

2) The nature of the material.

3) The solubility of the residual reagents
left in the tissue.

Root tip ; 30 min.(70% ™= 7|&)

Small pieces of leaf ; 1 hr.(70% ™ & 7| &)
Twig(®0.5cn 4 T) ; 4-8 hr.

Large biocks of wood ; 12 hr.



* 4. Alcohol 2| = x| At

« A% Alc. = 7}X|11 B% Alc. V ccES H|&F
she ¥ ;

| —

« B/AV (cc) + water = V cc



